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Answer either Section A or Section B.

Section A: Homer
Answer all the questions.

Passage 1
(1)

\ ? 3N 2 ’ - ! 5 - ¥
™YY O €yw 00 NVowW" TPY uiy Kai yHpas €meioy
L 4 S 1 W ¥ i e ! ’
NueTépw €vi oixw év " Apyei, Tnhobi mwaTpns,
[
LTTOV e"':rror,xopévnv Kal éuov ?\,éxoq avTiowaay.
b) 1w ! O S . of E / ¥
ah\N' [0, un p’ €pébile, cawTtepos @s ke vénat.
lliad 1 lines 29-32

1 Give two examples of how Agamemnon is especially cruel to Chryses.

2 How, by choice or use of language, does Agamemnon show his lack of respect for Chryses?
Use an example from the Greek.

Passage 2

TR yap €rl ppeai 97;;-:6 Oea Nevkwhevos Hp'r,-
ane'ra *ya,p Aavadv, 6T pa ﬁvncmov'raq oparo.

oi &' émel ovv Wepﬂev OpnyEPEES TE ryevoy'ro

rolol 8 avioTduevos petédn TOOAS WKUS Axs)t)\eur;

lliad 1 lines 55-58

3 Why is Hera so concerned about the death of the Greeks? Make two points.




4 Homer describes Hera as 6ea Aevkwlevos “Hpr. What does this tell us about her?

Put a tick (v) in the correct box.

A Sheis white-faced Hera. []
B  She is white-haired Hera. []
C  Sheis white-armed Hera. []
D  Sheis Hera of the white dress. [ | M]

5 Homer describes Achilles as m68as wkus *AxLAAeVs. What does this tell us about him?

Put a tick (v) in the correct box.

A He is Achilles king of men []
B He is steadfast noble Achilles D
Cc He is swift-footed godlike Achilles [ ]

D  Heis swift-footed Achilles []
[1]

6 What pessimistic prediction does Achilles make immediately after this passage?

Passage 3

13

ov Tis éued fdvTos kal émi ybovi depropévoro
! N 5 ! -~ '
gol kol\ys Tapa vnual Papelas yelpas €moloet
~ T A L ! i
cupTavter Aavadr, ovd Ny Ayauéuvova elmys,
A ~ A s L] -~ 3 5 2
05 vOv TOANOV apLaToS Ayai®v eUyeTal elvai.

lliad 1 lines 88-91

7 Translate these lines.
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Passage 4

Y ! - ~ I
ws épar’ €UYO0pueVOS, TOD 8 &rve PoiBos *Aon-
Awv,
~ A b 3 4 i ’ -~
Bh 8¢ kat’ Ov\vumowe kapijrev ywoueros kip,
Fogay L4 » ¥ r I
o’ wpolow éywy audnpedéa Te papeTpny.
W ] ¥ 3 3 A k) 3 N !
éxhayEav 8’ ap’ ooTol €m Wupwy Ywouevoro,
~ <
adTod rwnbévros' o 8 e vukTi éotkds.
o b O oy 4 ~ \ LTSN o %
éer’ Emerr’ amdvevle vedv, pera & lov énkev
\ A A {4 L] 3 4 ~
Sewwn) 8¢ Khayyn yéver apryvpéoto Sioto.
~ -~ ’ /!
olpiias ey mwpATOY ETPYETO Kal KVvas apyovs,
3 A » » 3 -~ ’ y A 3 A
adTap émwert’ avroiot Bélos éyemevnés éiels
’ ¥ 3\ \ 5\ 7 ’ ’
BarN'* aiei 8¢ mupal vekvwy kaiovto Baucial.

lliad 1 lines 43-52

8 How does Homer make this picture of Apollo a frightening one?

In your answer you may wish to consider:

¢ the figure of Apollo himself;
e the way Homer portrays his divine power.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer.




Passage 5

ob ydp wdb mwor éuas PBods ihacav oddE  pev

tmarovs,
00dé ot év POin épiBotart BoTiaveipn
rapmov Edn\icavt’, émel 9 pda moka peta&v,
otiped Te aribevta Bdhacod Te Nyrnecoa’
NG gol, & uéy avaidés, ap’ éomopeld’, ppa ov

xaipzs,
Tipny apvipevor Mevehdy ool Te, kuvdma,
wpos Tpodwv: Tdv ob Tt petatpemy 008’ aheyilets®

lliad 1 lines 154-160

9 ov ydp T moT’ épas Bovs MAacav: who is Achilles talking about here and what point is he
making?

11 TLpny dpvipevor Mevehdw ool Te: what is the Tiur that Achilles aims to win for Menelaus
and Agamemnon?

....................................................................................................................................................... [1]
12 Tick the three correct statements.
Put a tick (v) in each correct box.
A Achilles refers to Menelaus as ‘dog-faced’. D
B Achilles refers to Agamemnon as ‘dog-faced’. D
C The Greeks set out to give compensation to the Trojans. D
D  Phthiais described as shady. ]
E There are mountains and sea between Troy and Phthia. [ |
F  Phthiais described as fertile. []
3]
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Passage 6

L -
éxbiaTos O¢ poi éoar StoTpedéwy Bacidiwy
4 ’ ’

alel ydp Tov €pis Te PN TONEpOL TE paxal Te.

3 ’ ! 3 ! A 4 XSl
€l paha xaptepos oo, Beos mov gol To vy EdwKev.

W 7 -~ ~
oikad’ lwv ocvv vnuol Te 7S kal oois €TAPOLTLY

! k]
Mupuiboveaaw avacae, oébev & eyw otk aleyilw
1
ovd’ 6fopar koTéovTost amehijow &€ Tol Woe
3 -~ r - 1 !
ws éu adaipeitar Xpvanida PoiBos "Amoriwy,
3 - 2 ’
Y pev éyw auv vni T éun Kkal €uols €TApoLTLy
’

mépprw, éyw 6¢ k ayw Bpioniba kaA\imapnov

L] A 3N / 8 A s (s 3 IR 1) 184-
avTos Ly KALTLNVOE, TO TOV yépas, 0pp €v €LonS
o 4 / 2 / 4 A \ at
boaov péptepos eipt oéfev, aTuyén 8¢ Kal AANOS
T 2 b ! A\ r 4 W 22
loov éuol pacBar rat oporwbiuevar avrny.

lliad 1 lines 176-187

13 (a) £x010T0G...£dWKEV (lines 1-3): what three insults does Agamemnon heap upon Achilles?

(b) How, by the style of his writing in lines 1-6, does Homer convey Agamemnon’s furious
contempt for Achilles? Make two points and refer to the Greek?

(c) For what reasons does Agamemnon intend to take away Achilles’ prize? Make three points,
referring to lines 7-12.




7

14 Who do you think is the more to blame in the argument between Agamemnon and Achilles?
In your answer you should refer to other parts of the book you have read, and you can also
refer to the lines printed in the question paper.

Marks are awarded for the quality of written communication in your answer.

Section A Total [50]
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Do not answer Section B if you have already answered Section A.
Section B: Euripides

Answer all the questions.

Passage 1

nkw 0€ mewollels ools Adyowow evbade
dyvwoTov és yfv, dfevov. ceé 8 ioTopd,
ITvAddn—od ydp por Todde cvAAmTwp mOVOU—
TL Spdpev; audiAnorpa yap Toiywv opds
UYmAd: moTepa SwudTwy mpooaufdoets
eufnoouecla; wods dv odv Adboruer dv;
7 xaAkorevkTa kAfbpa Avcavres poydols—
Iphigenia in Tauris lines 74-80

15 Who is the speaker?

16 What kind of land has the speaker come to?

Put a tick (v) in the correct box.

A unknown []
B inhospitable D
C  recognisable [ |

D friendly []

17 How does the speaker describe the person they are talking to?

Put a tick (v) in the correct box.
A as a fellow prisoner

B as a partner

C as a co-captor

1 O O O

D as a brother

[1]

[1]




18 Tick the three correct statements.

Put a tick (v) in each correct box.

A The speaker asks Pylades ‘What are you doing?’
B The speaker asks Pylades ‘What are we to do?'
C The place is surrounded by high battlements.

D The steps lead to the palace.

E The door-bolts are made of gold.

I

F The speaker considers using crowbars.

[3]

Passage 2

'S ) 3 3 1 303 37’
pevyery pév odk dvexktov ovd’ elddfauer,
A3 - -
Tov 100 feol 8¢ ypnouov ol rakxioréov:
-~ 3 3 ’ r '
vaol 6 amalayxblévre xplbwuer Séuas
2 ¥ 3 (3} 7’ 4 'd !
KaT avTp d TovTos voTidt OtarxAvler pélas—
vews anwlev, pn 7is elodaww orddos
Baoketow eimn kdra Andbduer Bla.

Iphigenia in Tauris lines 85-90

19 Write down and translate the phrase which Pylades uses to say that it would be wrong to try to
escape.

....................................................................................................................................................... [2]
20 (@) Whois 0 Beds?
....................................................................................................................................................... [1]
(b) What did the oracle say? Make three points.
....................................................................................................................................................... [3]
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Passage 3
...xQorég 8¢ vaTa Ucwt?ﬁ:'m od/\c_u,
pevyewy d€ kafw oraoca Opurykov elowdeiv
55;1(01»' miTVoVT], ™AV O e'peleba,uov rrre'yog
Bs,@/\wte’:zov np&g ovoas E’E ff:{pwv UTGH#(:H'.
povos AeAeipbar aridos els €60E€ ot
Bo'p.wv Warpc_fm)v, ex O e’-m,xpuivwv denq
Eavlas xabetvar, pBéypa 8’ avbpdmov AaPeiv,
K-:iycb ﬂ'e'xvr;v 77?1'3’ ﬁv e"xcu EevoxTovoy
o vdpalvew adrtov s Bavovuevov,
kAalovoa. .-051-'ap 8 ®oe ov}z,‘gd)\;\m 700€"
Tébvi’ *Opéotns, ol karnpéduny éyd.
orbAot yap olkwyv mailés elow dpoeves:
Iphigenia in Tauris lines 39-50
21 How does Euripides make Iphigenia’s account of her dream vivid?
In your answer you may wish to consider:
e the events of the dream;
e Iphigenia’s interpretation of her dream.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer.
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Passage 4

I$. Kdlyas mis NAfe pavris éc Tpolas maAw;
Op. SAwlev, ws 7y év Muknvalots Aoyos.

I$. & wérv’, ws ed.—rl yap o Aaéprov yovos;
Op. ovmw vevdoryk’ olkov, éott &, ws Adyos.
[$. 6lotro, véoTov wimor’ és mdrpav TuydV.
Op. undév karedyov mdvra Tdrelvov vooel.

Iphigenia in Tauris lines 133-138

22 Write down and translate a Greek phrase which expresses Iphigenia’s pleasure when she
heard of Calchas' death.

....................................................................................................................................................... [2]

23 Who is 6 AaépTtov yoros?
....................................................................................................................................................... [1]

24 wdavTa Tdkelvov vooel: explain why this is so. Make two points.
....................................................................................................................................................... [2]

Passage 5

I$. Aetmer 8 év oixots dAov ’Ayapéuvwy yovov;

Op. Aédovmrev *HMéxrpay ye mapfévov plav.

Ip. i 8¢; odayelons Ouyarpos éori Tis Adyos;

Op. 0d8els ye, mhy Bavodoar ody dpav ¢dos.

Iphigenia in Tauris lines 163-166

25 Translate these lines.

....................................................................................................................................................... [5]

[Turn over
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Passage 6
& Doife, mol ' ad TS és dpruv yayes
xpnoas, €medr mATPOS Al éﬂ'eu:rof;mv,
p?}i?‘e'pa KATAKTAS ; Staé}oxafg & ’Epwﬁcuv
nAavvopecta duyades €€edpor xfovos
dpopovs Te moAovs é&émAnoa rapminovs.
e 6€ o’ 'x}po}rnaa TDS Tpoxn)tfi'?‘ou
pavias av éNows’ €s Télos movwv T epav,
ots éfepoybovr mepimoddv wal’ ‘EAAdda.

Iphigenia in Tauris lines 58-65

26 (a) @ ®oipe... unTépa karaktdg, (lines 1-3): in what way does Orestes feel that he has been
unfairly treated by Apollo?

(b) Swadoydic &’ Epwiav...kepmipovs, (lines 3-5): explain who else has played a part in
prolonging Orestes’ misery and what they have done.

(c) dwadoyaic & Epwvdov...ka® Eirado (lines 3-8): how, by the style of his writing in these
lines, does Euripides suggest the pain experienced by Orestes? Make two points and refer to
the Greek.




13
27 How does Euripides use the fact that neither Orestes nor Iphigenia knows of each other’s
identity or fate to create a gripping drama?

In your answer you should refer to other parts of the play you have read, and you can also
refer to the lines printed in the question paper.

Marks are awarded for the quality of written communication in your answer.

Section B Total [50]

Paper Total [50]
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Section A: Homer

Question Answer Max
Number Mark

1 Give two examples of how Agamemnon is especially cruel to Chryses. [2]
Chryses will grow old with Agamemnon (1)
She will be far from home (1)
She will have to work for Agamemnon (1)
And share his bed (1)
Any two of these.

2 How, by choice or use of language, does Agamemnon show his lack of
respect for Chryses? Use an example from the Greek. [2]
Use of imperatives to a priest - A\’ (6, pn @ €pébile.

3 Why is Hera so concerned about the death of the Greeks? Make two points. [2]
She is on the side of the Greeks because she wants revenge on Paris and the
Trojans for not being awarded the prize for the most beautiful.

4 Homer describes Hera as 6ea \evkwAevos “Hpr. What does this tell us about
her? 1]
C - She is white-armed Hera.

5 Homer describes Achilles as mé8as wkUs ’AxiA\ets What does this tell us
about him? [1]
D - He is swift-footed Achilles

6 What pessimistic prediction does Achilles make immediately after this
passage? [1]
He thinks that the Greeks will have to return home.

7 Translate these lines. [5]

Use the Marking grid at the end of the mark scheme.




Section A: Homer

Question Answer Max
Number Mar
k
8 How does Homer make this picture of Apollo a frightening one? [10]
Homer emphasises the power of Apollo as he strides down from Olympus, dark and
angry, his arrows rattling in a threatening manner. The ease with which he picks off first
dogs and then men is detached and chilling. The sheer number of dead leaves us in no
doubt as to the vulnerability of man in the face of divine wrath.
Emphasis on anger: yoopevog kfip and ymopévoto (lines 2 and 4).
Carrying weapons: t6&” Qpototv £xav Auenpepéa te papétpny — quiver and arrows (line
3). lconic picture of Apollo.
Ominous rattle of arrows: Exhay&av in emphatic position, onomatopoeic and spondaic.
Lines 4-5 run on, followed by pause, then short, chilling sentence: 0 §’ fie vukti €otkdg —
simile of Apollo being like the night.
Apollo’s almost casual detachment: sits down at a distance and fires: €(et’ €netr’
andvevde ve®v. The god’s power is effortless.
dewr) 8€ khoryyn: emphatic word order with adjective first. Spondaic for emphasis and
onomatopoeic.
Ease with which he picks off first mules, then dogs and finally men.
oUpfag pev mpidrov Enwyeto Kol kuvag Apyode,
aUtap €neir’ altoiot Bélog Exenevkec Epteic
B&AL’: clever build-up from ‘mules first he went for and swift dogs, but then on the men
themselves the stinging arrow he let fly — and struck!” Sentence structure reflects the
action, with [mm’ held over until the beginning of the line, where it reverberates,
accentuated by the pause.
aiai...@apswd: words ‘always’ and ‘thick’ frame the final sentence, emphasising the sheer
numbers of dead bodies being burned.
The points given above are indicative and offer question specific guidance. Any other
acceptable points must be rewarded. Answers must be marked using the level
descriptors in the 10-mark marking grid at the end of the mark scheme, taking into
account QWC when placing the answer within the band.
9 o0 ydp T ToT’ éuas Pols Mlacav: who is Achilles talking about here and what
point is he making? [2]
The Trojans. They never did him any harm.
10 ® péy’ dvardés: what has Agamemnon said to deserve this insult? [2]

Unless the Greeks give him another girl (1) he will take one of their girls (1) (for
himself).




Section A: Homer

Question
Number

Answer

Max
Mark

11

TLUNY dpripevor Meveddw oot Te: what is the Tipr| that Achilles aims to win
for Menelaus and Agamemnon?

Recovery of Helen

[1]

12

Tick the three correct statements.

B - Achilles refers to Agamemnon as 'dog-faced'.

E - There are mountains and sea between Troy and Phthia.
F - Phthia is described as fertile.

[3]

13(a)

13(b)

13(c)

€y0ioToc... Edmkev (lines 1-3): what three insults does Agamemnon heapupon
Achilles?

He is most hateful (to Agamemnon) of all the kings (1).
He loves strife, wars and battles (1).

He has a god to thank for his strength / he can take no credit for his strength (1).

How, by the style of his writing in lines 1-6, does Homer convey
Agamemnon’s furious contempt for Achilles? Make two points and refer to
the Greek?

&yOotoc: word spat out and in prominent position.

&yOotoc...€oot. hissing sibilance.

Polysyndeton in line 2: list of aggressive things appealing to Achilles - €pig te @iln
o 0L TE Lyl TE.

aici: emphatic position.

0e6¢ mov: emphatic position in main clause — ‘it was a god no doubt who...".

uaio and mov undercut.

Dismissive tone of lines 4-6: emphatic position of oikad’; repetition of ‘your’ in ofic
xal colc, implying ‘we don’'t need you’; Mvpuddvesoy Gvacos implying the
Myrmidons are the only ones who are impressed by him; repetition of negative in
oUx deyilm, oUd” 6Bopot, Showing Agamemnon’s contempt.

Any two points: one mark for reference to the Greek, one for appropriate comment.

For what reasons does Agamemnon intend to take away Achilles’ prize?
Make three points, referring to lines 7-12.

In recompense for giving up Chryseis (1).
To make Achilles realise how much stronger he (Ag.) is than him (1).
As a warning to others not to compete with Agamemnon (1).

[3]

[4]

[3]




Section A: Homer

Question Answer Max
Number Mark
14 Who do you think is the more to blame in the argument between Agamemnon

and Achilles?

Lines 88-91 Achilles says no one will harm Calchas while he lives, not even
Agamemnon. This is slightly provocative.

Agamemnon reasonably (?) says he must have a replacement for Chryses.

Achilles at 122 is quite cheeky in reply, even joking at Ag’'s expense (124) But he
does say Ag will eventually get a replacement.

Ag unwisely rises to this baiting (131) — accuses Achilles of deception (which is
provocative). Agamemnon says he will take someone else’s girl — maybe Achilles’.
This is bound to annoy Achilles. But he then tries to calm things down by saying we
shall deal with this later, and even honours Achilles by suggesting that he might be
the one to return Chryses.

Achilles then completely loses his temper, and is outspoken.
Ag unsurprisingly goes straight for him in return.
So both are to blame.

Use the 8-mark marking grid at the end of the mark scheme.

(8]

Section A Total

[50]




Section B: Euripides

Question Max
Number Answer Mark
15 Who is the speaker? [1]
Orestes

16 What kind of land has the speaker come to? [1]1
A - unknown

17 How does the speaker describe the person they are talking to? [1]
B - as a partner

18 Tick the three correct statements. [3]
B - The speaker asks Pylades 'What are we to do?'
C - The place is surrounded by high battlements.
F - The speaker considers using crowbars.

19 Write down and translate the phrase which Pylades uses to say that
it would be wrong to try to escape. [2]
(bevyewv pév) ok dvekTOV
(fleeing would be) intolerable/ not endurable

20(a) Who is 6 Beos? [1]

Apollo

(b) What did the oracle say? Make three points. [3]
To go to the land of the Taurians, take the statue of Artemis and take it to
Athens.

21 How does Euripides make Iphigenia’s account of her dream vivid? [10]

The reader is struck by the strangeness of events in this dream, events
which are interpreted to reflect the destruction of Iphigenia’s ancestral
home and family. The idea of a pillar sprouting golden hair and speaking in
a male voice has the surreal quality of a dream, as does Iphigenia’s urge to
sacrifice it as a foreign trespasser. Iphigenia’s isolation and emotional
response are reinforced by her bleak conviction that Orestes is dead.

Vocabulary of destruction: ceicbfjvar, Optykov...mitvovta, Epeiyipov,
BepAnpévov mpdg oldaC.

Earthquake - house collapses from top down: ndv & €peiyipov otéyoc
BeBAnpévov Tpog 0Udag £ Grpov oTaduddv.

mpdc oUdoc juxtaposed with & dkpav otadudv to emphasise extent of fall.
Emphatic position of ndv at start of clause and Bepinuévov at start of line.
One pillar left - otlog: solid position in centre of line.




Section B:

Euripides

Question
Number

Answer

Max
Mark

21
Cont'd

Pillar, strangely, sprouts golden hair and speaks in male voice: éx &’
énucpavov kopog Eavoac kadeivar, eOgypa & avOpdmov AapPeiv - vivid picture of
golden hair.

@B¢ypa - emphatic position.

Iphigenia’s isolation: she runs outside and watches it all collapse — her
father’s house (36pwv tatpwv).

Kay® téxvnv VS fv Exw Eevoktovov / Tiude’ Udpaively altdv g Oavovpevov,
Khaiovoa. With the strangeness typical of a dream, Iphigenia is muddled:
she thinks she has to kill this stranger/column and begins to sprinkle it
with water.

Her emotion - khaiovoa: weeping in her dream, perhaps foreseeing its
meaning, or perhaps at the trauma of the whole experience: participle
held over to emphatic position at beginning of next line.

Interpretation of dream as her whole family collapsing from the cornice
(Agamemnon) to the ground, the pillars representing the male offspring;
Orestes as the one surviving pillar, whom in the dream she has to kill.

1£0vmk’ Opéotng: stark sentence in emphatic position. Very bleak.

The points given above are indicative and offer question specific guidance.

Any other acceptable points must be rewarded. Answers must be marked
using the level descriptors in the 10-mark marking grid at the end of the
mark scheme, taking into account QWC when placing the answer within
the band.

22

Write down and translate a Greek phrase which expresses
Iphigenia’s pleasure when she heard of Calchas' death.

N

@ moéTI’,) s €.
(O lady), how just is that? (or similar)

[2]

23

Who is 60 AaépTou yéros?
Odysseus

(1]

24

TdvTa Tdkelvov vooet: explain why this is so. Give two points.
Odysseus had to wander for ten years (1) before he could get home (1).
His wife was pestered by suitors (1).

Any two correct points.

[2]

25

Translate these lines.
Use the Marking grid at the end of the mark scheme.

[5]




Section B:

Euripides

Question
Number

Answer

Max
Mark

26(a)

26(b)

26(c)

@ Doipe...uqtépa kataktdg (lines 1-3): in what way does Orestes
feel that he has been unfairly treated by Apollo?

He has avenged his father's death (1) by killing his mother (1), yet
Apollo has led him into a trap/brought him to this dreadful place (1).

dwadoyoic 8’ Epwiov...kopmipovg (lines 3-5): explain who else has
played a part in prolonging Orestes’ misery and what they have

done.

Troop after troop of Furies (1) drove him into exile from his land (1), so that
he went round and round as if in a race (1).

adoydig 8’ Epwvowv...kad’ Errada (lines 3-8): how, by the style of his
writing in these lines, does Euripides suggest the pain experienced
by Orestes? Make two points and refer to the Greek.

Sradoyaic &' Epwidwv: the sheer number of Furies hounding him in
succession or relays.

AavvopeoBa: he is driven; also emphatic position at beginning of line.
QLYadeg €Eedpot yBovoc: he is an exile from his homeland, powerless.
Vivid metaphor from racing: it's a long journey, but metaphor

suggests endless loops, going over old ground - dpopovg te ToAAOUG
¢EEminoo Kapmipovg.

dpopovg ...xaumipovg: words frame line.

Tpoynidrov poviag: the madness drives him round in circles and all

he wants is an end to it (télog).

Powerlessness: he has to ask Apollo for it to stop - é\0wv 8¢ ¢’

npOMoa.

novov T £udv: reference to his toils/labours.

egepoybouv: also reference to toiling.

nepuror@v ko’ EALGSa: emphasis on the circuitous nature of his

travels and their extent - neprand kad’.

Weariness of Orestes — any of the ‘toiling’ words above.

Any two points: one mark for reference to the Latin, one for appropriate
comment.

3]

[3]

[4]

27

How does Euripides use the fact that neither Orestes nor Iphigenia
knows of the other’s identity or fate to create a gripping drama?

Iphigenia interprets her dream as meaning that Orestes is dead, and then
Orestes enters.

Then the conversation between Orestes and Iphigenia is full of dramatic
irony.

She asks whether Pylades and Orestes are brothers. (In fact O and she
are the siblings)

Iphigenia is about to kill the two of them (106).
She asks for O’s name, but he will not tell her.

8]




Section B: Euripides

Question Answer Max
Number Mark
27 But he does tell her he comes from Argos, which amazes her (111)
Cont’d Note Orestes’ enigmatic answers in 114, 120, 124, 128

140 -141 they get very close to the truth.

143 She says she comes from Greece, and at 147 asks about their father
152 Orestes asks if she is related to Agamemnon.

158 Orestes refers to his own Killing of his mother

165 Iphigenia refers to herself, without Orestes realising it.

169 Iphigenia asks whether Agamemnon's son still lives. Orestes says
yes, but does not say that he is that son.

171 Iphigenia realises her dream was false, but does not know the full
truth.

Each exchanges information about themselves, and get very close to the
truth without quite revealing enough.

Use the 8-mark marking grid at the end of the mark scheme.

Section B Total

[50]
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Marking grid for 10-mark questions

Level

Mark
ranges

Characteristics of performance

e Engagement with the question;

e Selection and coverage of supporting points;

e Choice and use of evidence from the Greek text;
e Accuracy of writing;

o Control of appropriate form and register;

e Organisation of answer.

9-10

e Good engagement with the question;
¢ A range of relevant points, with development;

¢ A good range of appropriate Greek quotation with relevant
discussion;

o Legible, fluent and very accurate writing, conveying meaning
clearly;

e Sustained control of appropriate form and register;
e Argument well organised.

e Some engagement with the question;

¢ A range of relevant points, with some development;

e Some appropriate Greek quotation with some relevant discussion;
¢ Legible and accurate writing, conveying meaning clearly;

e Some control of appropriate form and register;

e Argument is organised.

3-5

¢ Limited engagement with the question;

¢ A few relevant points;

o Limited Greek quotation with limited relevant discussion;

¢ Legible and generally accurate writing, conveying meaning;
¢ Limited control of form and register;

e Argument apparent in places, even if underdeveloped.

e Little or no engagement with the question;
¢ Any points made are of little or no relevance;
¢ Very little or no appropriate Greek quotation or relevant discussion;

¢ Writing may be illegible and/or contain many errors of spelling,
punctuation and grammar and meaning may be unclear;

¢ Very limited control of form and register;
o Argument difficult to discern.

Quality of Written Communication (QWC): the QCA guidance stipulates that all three strands of
QWC must be explicitly addressed - hence in the marking grid the presence of bullet points 4-6. In
assigning a mark, examiners must first focus on bullet points 1-3 to decide the appropriate Level
using the Indicative mark scheme to inform their judgement. They should then consider the
evidence of QWC to help them decide where, within the Level, it is best to locate the candidate's
mark.
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Marking grid for 8-mark questions

Level Mark Characteristics of performance
ranges

e Engagement with the question;

e Selection and coverage of supporting points;

¢ Understanding and appreciation of the set text;
e Accuracy of writing;

¢ Control of appropriate form and register;

¢ Organisation of answer.

4 7-8 e Good engagement with the question;
¢ A good range of relevant points with development;
¢ A good understanding and appreciation of the set text;

¢ Legible, fluent and very accurate writing, conveying meaning
clearly;

e Sustained control of appropriate form and register;
e Argument well organised.

3 4-6 e Some engagement with the question;

¢ A range of relevant points, with some development;

¢ A general understanding and appreciation of the set text;
¢ Legible and accurate writing, conveying meaning clearly;
¢ Limited control of appropriate form and register;

e Argument organised.

2 2-3 e Limited engagement with the question;

¢ A few relevant points;

¢ A basic understanding and appreciation of the set text;

¢ Legible and generally accurate writing, conveying meaning;
¢ Very limited control of form and register;

e Argument apparent in places, even if underdeveloped.

1 0-1 e Little or no engagement with the question;
¢ Any points made are of little or no relevance;
¢ Very little understanding or appreciation of the set text;

o Writing may be illegible and/or contain many errors of spelling,
punctuation and grammar and meaning may be unclear;

e Little control of form and register;
e Argument difficult to discern.

Quality of Written Communication (QWC): the QCA guidance stipulates that all three strands of
QWC must be explicitly addressed - hence in the marking grid the presence of bullet points 4-6. In
assigning a mark, examiners must first focus on bullet points 1-3 to decide the appropriate Level.
They should then consider the evidence of QWC to help them decide where, within the Level, it is
best to locate the candidate's mark.
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Marking grid for set text translation 5-mark questions
[5] All of the meaning conveyed, with one minor error allowed

[4] Most of the meaning conveyed, with two errors (which may include a major error)
or three minor errors allowed

[3] Part of the meaning conveyed, but with two or more major errors or omissions
allowed

[2] A limited amount of the meaning conveyed
[1] A very limited amount of the meaning conveyed
[0] None of the meaning conveyed

N.B. Consequential errors should not be penalised.
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Assessment Objectives Grid

Question AO2 Total
1-26 50 50
Total 50 50




